F—RREE F—M BEE

Bl 1A AT R T 5B
A(3,2-B(2,-3)-C(-1,-2)-D(0,5)~
E(-4,4)-F(2,0) -

) 2: (RSB 5P KI5 P (1,3)-Q (9,
9) » 5 P - Q FIBGEEERE -
B + R

A A S 0 N B R A 2
PQ=1/(9-1)* +(9—3)? =82+ 6% =/64+36 =~/100 =10

Ex1.2 P FRiEEP (5,2) ~ Q(8,6) 3K P~Q
FARGHYEERE - &5

Ex2. 35 E FRiBEP (-5,3)~Q (0, 15) 3K P
Q FVELAYEERE - %13

B 3: (R A S AR FAHEREE P (-1,
2) ~ Q(3,6) > K PQHBLAAE o

e = (K20

W -1+3
FIPEE ARG x =221 y =

{5 PQ By BHAE F(1 , 4)

2+6

104
2

Ex 1A P EAH AR P (-2,3)-Q (4,
5) » SKPQHYHERAAEE - (L, 4)

Ex2. 3K ERRE P (2, —4) ~ Q (8, O)Ayikhak

1:% ° %(5 y 2)

Bl 4: (3 BEAF)EL P1(3,2) ~ P2(3,5) ~ P (x,Y)
FylE—E4R AR = 8L 35 P E4RER PP, I
HPRP:PP=2:1 3K P BHAAEE -

. KFyRP:PR=2:1 FIFAEAMEARTS

1x3+2x3 1x2+2x5
X = = 3 = = 4
2+1 2+1
B P B Ry (3, 4)
P(32) P P,3.5)
o

Ex1.5% P1(1,2) ~ P2(5,6) ~ P (x,y)BHE—HE
4R AR =BE - 35 P FLRERRR, F 0 B
RP:PP,=1:3 » 3K P BEALIE o %2, 3)

Ex2.5¢ P1(1,0) ~ P2(-5,3) ~ P (x, Y) /E—H
4p AR =L - 35 P ELRER PR, 0 H
PP:PP,=2:1> 3K P B o« %5:(-3,2)




B 5: CRRNREHT ELERPIER) KA 515 BT E
GRZPPR
M@, 6)E(-1,2) -
@6, DE(-2,1)-
G)(-3,1)H#(-3,-1) -

- A Y
e PR m=__—

6-2
1-(-9)

\ 4
DREEm= :E:Z

1-1 0
)RR m= ===0
@ppEm== =3

QB X=X =—3 » FrLBIR m REfE > [ EGE
B x il
Ex1.oREH MY SR E AR 2 Rl
(1)(6,-3)8i(~-2,5) -
(2)(8,-2)ki4,~-2) -
(3B, -5H@3,2)

(1) - L0, ) FE

Ex2 K& NS BIHVE AR ZRER
(1)(5 ' 2)@‘\1(_ 2 v 3) °
(2)(-1,0)E1(4,0) -

3)(—4,5)8l(-4,2) - %@:(1)? (0B F17HE

B 6: CEBRERIHYELRRIZR) K 72 B4R
()B4 2x+3y +6=0 -
(QE4x-2y+3=0-

() E42y—1=0-
(4)E4Ex+2=0-

N -
f#: KPR m ~ i

(1)E4% 2x+3y+6=0 E’ﬂ//ﬂ%ﬁ%—g

QB4 x -2y +3=0 m%g

(3)EL 2y — 1 =0 HIR= A 0
() EL X + 2 =0 HUREERIELE

Ex1.5K NI & EARAIRER
(DE43X+2y+6=0-
(QE4 2x-y+4=0-
R)E4R3y+2=0-

(NEH X -1=0° H0)-5 Q20T

Ex2.5K NI EARIIAREE |
(1)HE%x-2y-3=0-
(QE4E5X+y+2=0¢
QREHRY=2"

(ELHX+5=0° &), Q) -SE0@ T

Bl 7: GRERIZ) K 2 1B, — 1) ERRER R 3 1Y
HETTRER -
fi#: BRIy — yo = m(x — xo)
FIHERIEGEESGTENY - (1) =3(x - 2)
BT 3x—y-7=0
Ex1.50CKom e A - 5, 3) HRER Ry 2 AV EARTT
o Z2x-y+13=0

Ex2.50K e #8RE3 , - 2) HRER Ry 0 IV E 4R T
o Ziy+2=0



B 8:(RIB) K e R Ry 3 > y BFERy 2 AV E
ITRER -
fE: #EEl y=mx+b
FIARIEERF Yy =3x+2
ExloKimeslR Ry 2 y ®#iERy -5 VESITE
o Fiy=2x-5

Ex2 KimeRtR -1 y #ib Ry S AVERTIZ
o FHiy=—x+3

B O: (BE ELARFEME) K BH(3 , — 2SI E 4R Lt 4x+
3y+4 =0 FYREHE -

i d = | B#A

oo+ ome?

B3, - 2)FE4 L : 4x+3y +4=011

g g —|4x3+3x(2)+4] 10,

&+ 3 5
Ex1.3KEBE( -2, 3)FH 4R L:3x — 4y = 2 fYFEHEE -
&4

Ex25KEL(S , - 8)FIELR L + x— 4 =0 HYpHgE -

A
=

B 10: (BREUERE) K 2x* +x° — 2 + 3FREA X~ 1
HYERT
B f(x) + (x — 1) #9ER=(=f (1)
SfX)=2x"+x3-2x*+3
ZRIVE [ S wassiii]
SRR f(D) =201 +1°-2(1)+3=4
Ex1.3K x® + 99 BDL X + 1 AYER= - .98

Ex2.3K(x + 3)° + X BRLA x + 2 1U8R=C - -1

Bl 11:(RAEE) TR + DR (x) =x* - 3% +
kx -1 HYAF > Kk Z1{H -
B (x+ DEfORRRS f(-1) =0
f(—1)=(-1)-3(-1)°+k(-1)-1=0
k=3
Ex1.ELEI(X + 2) 5 f (X) = X3+ kx + 12 (YR > 3R
K ZMH - k=2

Ex2.E240(X — 2) B f (X) = x3 — 3% + 4x + K (YRR, >
KKkZE - Ek=—4

Bl 12: k BB E R X +2x—k=0FW
MHEEE > KkE -
fEEDb? — 4ac > 0 B > AWHEER
Eb? —4ac=0 B> FEIR
2b? —4ac < 0 B > EEIR
o HRIE b2 -—4ac=22-4x1x(-k)=0
=4+4k=0 Hk=-1
Ex1.k BEH & T2 2 - 6x + k=0 BRiMHE
R SKKk{EH - &k=9

BI13:(IREURED Ei o f Ry JTHEA X - 2x—3=0
AYRIAR > SK M= (E
1

Watp @Qaxp @) o+

— 3 —



2,82 L2,
@a’+p° B 5

R o+ B= = FAR. o x B= =

a

Hfta=1 b=-2 c¢c=-3

1) a+p=2
() ax f=—3

1,1 arp_ 2
3) a p aof 3

4) (a+ p)Y=a’+2 af+ B?
2=a’+p%+2x(-3)

a’+p?=10
p a_a2+ﬂ2_ 10
O 5w s
Ex1# o~ B RJTRRZ +3x+ 1 =0 HRIFR
SKRFIE A -
Matp @axp @) -+

@ a?+p%e  EO-3QLE -7

Ex2.% o ~ B Bz X%+ 5x + 2 = 0 (YR -

KTFNEAE -
Da+p Qaxp (B)a?+p?

@ 2% me-sE2Eme s
a p 2




